18. EVA Mathe - Klasse 7¢

Losungen zum Aufgabenblatt fiir den 2.03.2005

a) i) T(7:5)=5-7-(3-5+2-7)=35-(15+14)=35-29=6
i) I(7:5)=5-7-(3-5+2-7)=5-7-3-5-2-7=35-15-14=6
b) i) T(3:-6)=5-3-(3-(-6)+2-3)=15-(-18+6)=15- (-12)= 15+ 12 = 27
i) T(3;-6)=5-3-(3-(-6)+2-3)=5-3-3-(-6)-2-3=15+18-6=27
c) T(x;y)=5x-(3y+2x)=5x-3y-2x=5x-2x- 3y =3x -3y

0  T(7:5)=3-7-3-5=21-15=6
T(3:-6)=3-3-3-(-6)=9+18=27

a) 7a+(4b-3a)=7a+4b-3a=7a- 3a+4b =4a+4b
b) 9x - (11y? + 8z3) = 9x - 11y? - 823
¢) 5k-(2Im-k)+ 31lm - 4k2m = Bk - 21m + k + 31m - 4kZ2m = 6k + 10m - 4kZm

d) 2a%b - (3b - 7¢2 + a® - 5b2d) - 6b = 2a%b - 3b + 7c2 - a%b + 5b2d - 6b
= a*b - 9b + 7c2 + 5b2d

e) -(41x%- %y2+ %22)- %yz-(0,722-2§lx2)+4x- %x2+ (4 - 1—10x2+x)

z-4Ix%+ %yz- 162 10y2-0,7zz+2§1x2+4x- %x2+4- 1—10x2+x

2- 1—10x2+ %yz- %yz— %22-0,722+4

:4><+><—4,1><2+2§1x2 - %x
=5x-41x*+25x*-04x2-0,1x*+04y?-0,3y2-0,322-072z>+ 4

=b5x-21x?+0,1ly?-2z2+4



